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100 Questions

Que. 1 Read the following passage carefully and answer the questions that follow it. Certain words have
been highlighted for your attention.

In India, Apple Inc's normally deft management of government relations is being put to a fresh high stakes test.
For almost two years, Apple has battled India's telecom regulator over a demand that it allow the use of the
government's anti-spam app. Non-compliance, the watchdog threatened last month, could result in phones being
‘derecognised’ from the country's networks, meaning they would no longer function. Apple has not gotten the
tax breaks it has sought for suppliers to expand local manufacturing — key if it is to avoid steep import duties
that have made its iPhones, already pricey for many Indian consumers, even more expensive. Local content
prerequisites have also stopped the U.S. tech giant from opening its own stores. The lack of direct sales channels
has helped make it vulnerable to discounting and prompted it to recently embark on a major overhaul of its retail
strategy. At the heart of its latest tussle with the government is India's pervasive problem with spam and nuisance
calls — one the Telecom Regulatory Authority of India (TRAI) is trying to counter with an app that it wants all
phone makers to install.
The app has been available on the Android store since 2016, but Apple in March said that TRAI's app ‘as
envisioned violates the privacy policy of the App Store’. The new version of its iPhone operating system,
expected in autumn, will allow many of the app's functions but not fully automatic spam filtering as that
functionality could open the door to Apple users being tracked by third parties, Apple said in a letter to
regulators. TRAI, however, last month notified Indian telecom firms it could give them six months notice to
‘derecognize’ devices from their networks if the devices do not support anti-spam apps that are approved by the
government. In the letter, dated June 18 and responding to a draft of the proposed notification, Apple asked for
the clause about derecognition to be dropped. ‘We look forward to working with TRAI to address the issue of
unsolicited commercial communications, while simultaneously ensuring that we fully honour our commitment to
protect the privacy and security of our users’, Apple's head of public policy in India, Kulin Sanghvi, wrote in a
letter.
The Indian Cellular Association has also come out in opposition to the regulator's move. In order to respond to
Apple's request to drop the derecognition threat, TRAI Chairman R.S. Sharma said the notification could not be
quashed or challenged by writing a letter. “The most appropriate way to challenge this is in court”, he said.
Apple has also failed to find favour with Prime Minister Narendra Modi's administration when it comes to tariffs.
Championing policies that force overseas tech firms to manufacture locally, the government has imposed import
duties. A base model iPhoneX is now priced at nearly $1,400 in India - some 40 % more than in the United
States. Apple, which currently assembles only two low-end iPhones in India, has said tariff-free imports are
critical for smartphone component suppliers and essential to make local manufacturing practical. But its pleas
have gone unheeded and its competitors are not making the same arguments. Samsung Electronics builds all its
Indian phones locally and last month opened the world's biggest mobile manufacturing plant on the outskirts of
New Delhi – which is slated to become an export hub. A key supplier for China's Xiaomi, another major Apple
rival, this week said it would spend $200 million to build a plant in southern India. The steep tariffs
are exacerbating sales woes for Apple in India, where it has to rely on a network of distributors to supply
devices. Competition among retailers has led to rampant discounting, at both physical stores and online, and
Apple's policy to keep prices uniform within a single market has collapsed in India. It has also often meant a
desultory buying experience for the consumer.

As used in the first paragraph, what do you not infer from the word ‘tussle’?
scuffle1.
brawl2.
fight3.
struggle4.
tosspot5.
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Testbook Solution Correct Option - 5

Testbook Solution

Que. 2 For almost _______ years, Apple has battled India's telecom regulator over a demand that it
allow__________.

Correct Option - 3

use of government's anti-spam app, two1.
two, use of government's spam app2.
two, use of government's anti-spam app3.
use of government's spam app, two4.
two, use of governments anti-spam app5.

Testbook Solution

Que. 3 Apple has also failed to find favour with PM’s administration when it comes to_________.

Correct Option - 2

anti-spam app1.
tariffs2.
privacy and security of users3.
derecognition threat4.
public policy5.

Testbook Solution

Que. 4 Which of the following is the most appropriate match?

Correct Option - 3

Apple – USA1.
Xiaomi – China2.
Apple – USA

Xiaomi – China

3.

Apple – China

Xiaomi – USA

4.

Xiaomi – USA5.

Testbook Solution

Que. 5 Who would spend $200 million to build a plant in southern India?

Correct Option - 3

Apple1.
Samsung2.
Xiaomi3.
TRAI4.
iPhoneX5.

Que. 6 According to Apple, TRAI’s app violates what?
iPhone’s operating system1.

spam and nuisance calls2.
privacy policy of the TRAI’s Store3.
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Testbook Solution Correct Option - 4

privacy policy of the App Store4.
smartphone component5.

Testbook Solution

Que. 7 As used in the last paragraph, what do you infer from the word ‘exacerbating’?

Correct Option - 1

aggravate1.
calm2.
reduce3.
exotic4.
exquisite5.

Testbook Solution

Que. 8 The following statement, ‘We look forward to working with TRAI to address the issue of unsolicited
commercial communications, while simultaneously ensuring that we fully honor our commitment to

protect the privacy and security of our users’, has been said by?
i. Apple's head of public policy in India.
ii. R.S. Sharma
iii. TRAI Chairman
iv. Apple's head of private policy in India
v. Kulin Sanghvi

Correct Option - 2

All except ii, iii and v1.
All except ii, iii and iv2.
All except ii, iv 3.
All except ii and v4.
All i, ii, iii, iv and v5.

Testbook Solution

Que. 9 In the question below, three statements are given which may or may not be grammatically correct.
Identify the statement/statements that is/are incorrect.

I. Its hazardous to use a handheld cell phone while driving.

II. They are also dangerous says, researchers.

III. Sugar and flour are needed for the recipe.

Correct Option - 4

Only I1.
Only II2.
Only III3.
Only I and II4.
Only II and III5.

Que. 10 In the question below, three statements are given which may or may not be grammatically
correct. Identify the statement/statements that is/are incorrect.
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Testbook Solution

I. India’s manufacturing sector was believed to be at the verge of sickness.

II. The changing fortune is indicated by increasing investment.

III. Clouds hung thick and grey in Bengaluru airport.

Correct Option - 5

Only I1.
Only II2.
Only III3.
Only II and III4.
Only I and III5.

Testbook Solution

Que. 11 Direction: Fill in the blanks for the passage below with the correct word.
A kingdom is a piece of land that is ruled by a king or a queen. A kingdom is often called a monarchy,

which means that one person, usually inheriting their position by birth or marriage, is the leader, or head of state.
Kingdoms are one of the earliest types of societies on Earth, dating back thousands of years. There have been
hundreds, if not thousands, of different kingdoms throughout history. Kingdoms can be huge, such as the United
Kingdom. During the nineteenth century, the United Kingdom, ruled from London, England, stretched over five
continents. Kingdoms can also be small, such as the kingdom of Brunei, which is smaller than the U.S. state of
Delaware. Once upon a time in India, King Amarasakti ruled the city-state of Mahilaropyam in the south of
India. The kingdom was filled with riches and the king had three witless sons who became a matter of endless (1)
_________ for him. (2) _________ that his sons had no interest in learning, or that he would never be able to
carry forward the reputation of the kingdom as a trading hub with the Ghana Empire, which located in the
modern countries of Mauritania and Mali, was a kingdom on the southwest edge of the Sahara Desert.
King Amarasakti summoned his ministers and said, "You know I am not happy with my sons. According to men
of learning, an unborn son is better than a son who is a (3) _________.  A son who is stupid will bring dishonour
to his father. How can I make my sons fit to be my (4) _________? I turn to you for advice."


One of the ministers (5) _________ the name of Vishnu Sharman, a great scholar enjoying the (6) _________ of
hundreds of his disciples. "He is the most (7) _________ person to tutor your children. Entrust them to his care
and very soon you will see the change." 

What should come in place of (1)?

Correct Option - 3

Joy1.
Ache2.
Worry3.
Pity4.
Hazard5.

Testbook Solution

Que. 12 What should come in place of (2)?

Correct Option - 4

Fact1.
Belief2.
Since3.
Realising4.
Being5.
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Testbook Solution

Que. 13 What should come in place of (3)?

Correct Option - 2

great1.
fool2.
brilliant3.
disciple4.
scholar5.

Testbook Solution

Que. 14 What should come in place of (4)?

Correct Option - 1

successors1.
self2.
place3.
level4.
siblings5.

Testbook Solution

Que. 15 What should come in place of (5)?

Correct Option - 4

pointed1.
called2.
requested3.
suggested4.
said5.

Testbook Solution

Que. 16 What should come in place of (6)?

Correct Option - 5

rights1.
attendance2.
glamour3.
teachings4.
respect5.

Testbook Solution

Que. 17 What should come in place of (7)?

Correct Option - 1

 competent1.
right2.
easy3.
actual4.
skill5.

Que. 18 In the question below, three statements are given which may or may not be grammatically
correct. Identify the statement/statements that is/are incorrect.

KD Jo
b 

Upd
at

es



Testbook Solution

I. No sooner did I speak, than he left.
II. The patient was accompanied with his friend.
III. Mr. Sharma may be late but I am sure Mr. Kapoor won't be.

Correct Option - 2

Only I1.
Only II2.
Only III3.
Only I and II4.
Only II and III5.

Testbook Solution

Que. 19 Directions. In the question given below three sentences are given and are named as I, II, and III.
You have to determine which sentence/s contains an error and mark the appropriate option. If

there is no error, then mark ‘No error’ as your answer.
I. If Bangladesh follows the Paris Climate Agreement, the country may not implemented other projects such as
Rampal Power Plant and Rooppur nuclear power plant.
II. Had he completed the assignment on time, he will join us on the trip to Goa.
III. If he applied for the job, he would receive a confirmation mail from the company regarding the same.

Correct Option - 2

Only I1.
Both I and II2.
Only III3.
Both II and III4.
No error5.

Testbook Solution

Que. 20 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in the correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.
Since I live in a experience(A) region, I temperate(B) all of the seasons from warm(C) summers to
cold(D) winters.

Correct Option - 4

A - C1.
C - D2.
A - D3.
A - B4.
No rearrangements5.

Que. 21 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in the correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.
Unlike(A) many people today, I tangible(B) a prefer(C) book made out of paper to an electronic reading(D)
tool. 

A - C1.

KD Jo
b 

Upd
at

es



Testbook Solution Correct Option - 4

D - B2.
A - B3.
C - B4.
No rearrangements5.

Testbook Solution

Que. 22 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in the correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.
Two teens were vandalism(A) with charged(B) after they spray(C) painted curse words on their elderly
neighbour’s garage(D).

Correct Option - 4

C-A1.
A-D2.
B-C3.
B-A4.
No arrangements5.

Testbook Solution

Que. 23 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in the correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.
When Jim did not get the justice(A) he thought he vengeance(B) in court, he got his own deserved(C) by
shooting(D) his attack.

Correct Option - 3

A-D1.
C-D2.
B-C3.
A-B4.
No arrangements5.

Que. 24 Given below is a word, followed by three sentences that consist of that word. Identify the
sentences(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above’ if

the word is not suitable in any of the sentences.
INSTANT
A. The instant the girl saw her mother, she burst out crying.
B. The women took an instant dislike to one another.
C. She was too lazy to make herself a sandwich and salad, and decided to just have some instant soup. 

Only A1.
Only B2.
Only C3.
All A, B, and C4.
None of the above5.
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Testbook Solution Correct Option - 4

Testbook Solution

Que. 25 Given below is a word, followed by three sentences that consist of that word. Identify the
sentences(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above’ if

the word is not suitable in any of the sentences.
DOCK
A. I can take you to the dock on the other side.
B. Queen Street, the principal thoroughfare, leads inland from the main dock, and contains the majority of the
public buildings.
C. He said he felt bad about it, but conceded that Tessa had been less than dock with him on more than one
occasion.

Correct Option - 4

Only A1.
Only B2.
Only C3.
Only A and B4.
none of the above5.

Testbook Solution

Que. 26 Given below is a word, followed by three sentences that consist of that word. Identify the
sentences(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above’ if

the word is not suitable in any of the sentences.
DENOUEMENT 
A. There are no new denouements or progress in the plan.
B. While I do not want to ruin the story for you, you should know the hero’s brother dies in the denouement. 
C. How can you say that the denouement condition of the poor people does not affect us?

Correct Option - 4

All A, B and C1.
Only B and C2.
Only C3.
Only B4.
Only A5.

Que. 27 Given below is a word, followed by three sentences that consist of that word. Identify the
sentences(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above’ if

the word is not suitable in any of the sentences.
EPHEMERAL
A. The cultivation of green forage is extensive and is divided into the categories of temporary and ephemeral.
B. New words are constantly being coined, some will prove ephemeral, and others are here to stay.
C. The topography and the climate of Nevada have led to the formation of two kinds of lakes, the ephemeral and
the perennial.

Only A1.
Only C2.
Both B and C3.
Both A and B4.
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Testbook Solution Correct Option - 3
None of the above5.

Testbook Solution

Que. 28 In the given question, a word in the sentence is printed in bold. Below the sentence, alternatives
to the emboldened part are given which may help improve the sentence. Choose the given

alternative out of the given five options.
He might lose a sense of his superiority which impact his ego in public and private life.

Correct Option - 4

Bear1.
Boost2.
Candor3.
Bolsters 4.
Tolerate5.

Testbook Solution

Que. 29 Which of the phrases given in the options should replace the word/phrase that is underlined in
the sentence to make it grammatically correct? if the sentence is correct as it is given and no

correction is required, select 'No correction required' as the answer.
Hardly had the peoples reached Mumbai then they were ordered to return to Delhi.

Correct Option - 3

the peoples reached Mumbai then1.
the peoples reached Mumbai than2.
the people reached Mumbai when3.
the peoples reached Mumbai when4.
No correction required5.

Testbook Solution

Que. 30 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in the correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.
After appraisal(A) a low receiving(B) on my diamond ring, I realized the suspicious(C) looking jeweller had
sold me a spurious(D) jewel.

Correct Option - 3

A - D1.
C - D2.
A - B3.
B - C4.
No arrangements5.

Que. 31 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

l. 24x2 + 38x + 15 = 0

ll. 54y2 + 123y + 65 = 0
x > y1.
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Testbook Solution Correct Option - 3

x < y2.
x ≥ y 3.
x ≤ y4.
x = y or relation between x and y can not be determined.5.

Testbook Solution

Que. 32 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. x2 + 36x + 243 = 0

II. 2y2 – 32y + 120 = 0

Correct Option - 3

if x > y1.
if x ≥ y2.
if x < y3.
 if x ≤ y4.
if x = y or the relationship cannot be established.5.

Testbook Solution

Que. 33 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. 24x2 + 96x + 90 = 0

II. 28y2 + 56y + 21 = 0

Correct Option - 4

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established.5.

Testbook Solution

Que. 34 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. x2 + 3x – 130 = 0

II. 2y2 – 10y – 208 = 0

Correct Option - 5

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Que. 35 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.
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Testbook Solution

I. 2x2 – 3x – 2 = 0

II. 4y2 – 17y + 4 = 0

Correct Option - 5

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Testbook Solution

Que. 36 Direction: In the following number series, a wrong number is given. Find out the wrong number.
6, 5, 8, 21, 81, 395

Correct Option - 1

811.
212.
3953.
84.
55.

Testbook Solution

Que. 37 Direction: In the following number series, a wrong number is given. Find out the wrong number.
6, 7, 11, 38, 54, 179, 214

Correct Option - 2

1791.
2142.
543.
384.
115.

Testbook Solution

Que. 38 In the following number series, a wrong number is given. Find out the wrong number.
32, 33, 25, 52, 12, 113

Correct Option - 4

331.
252.
523.
124.
1135.

Que. 39 In the following number series, a wrong number is given. Find out the wrong number.

12, 6, 24, 3, 44, 1.5

1.51.
442.
123.
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Testbook Solution Correct Option - 2

64.
245.

Testbook Solution

Que. 40 In each of the following number series, the wrong number is given, find out that number.

429, 436, 447, 452, 481, 504

Correct Option - 4

4291.
4362.
4473.
4524.
4815.

Testbook Solution

Que. 41 Instructions: Study the following information carefully and answer accordingly.
In a competition, among a certain number of participants (Boy + Girl), some participate in both the

events of Dancing and Singing while some of them participate in Singing or Dancing alone.
The ratio of Boys to Girls who participate in Dancing and Singing is 4 : 3 and 8 : 13 respectively, while the ratio
of Boy to Girl who participates in both the events of Singing and Dancing is 2 : 1 and the ratio of Boys to Girls
who participate only in the Singing event is 1 : 2. The participation of boys in the Dancing event alone is 10
more than the Girls who participate in it. Boys who participate in both Dancing and Singing is 20% of the Boys
who participate in Dancing events alone.

Find the number of participants who participated in both events (Dancing and Singing).

Correct Option - 4

51.
102.
203.
154.
None of these5.

Testbook Solution

Que. 42 The number of Boys who participated only in Singing events is what percent of Boys who participated
only in Dancing events?

Correct Option - 3

55%1.
45%2.
60%3.
50%4.
None of these5.

Que. 43 Find the ratio of boys who participated in Dancing to Girls who participated in Singing.
13 : 121.

9 : 112.
11 : 133.
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Testbook Solution Correct Option - 4

12 : 134.
None of these5.

Testbook Solution

Que. 44 Find the ratio of participants who participated only in Dancing to only in Singing.

Correct Option - 1

1 : 11.
2 : 12.
1 : 23.
4 :34.
None of these5.

Testbook Solution

Que. 45 How many participants were there in the competition?

Correct Option - 5

2001.
1852.
2053.
1944.
None of these5.

Testbook Solution

Que. 46 Direction: Study the following table carefully and answer the given question:
Table shows the percentage of votes received by four candidates in a college election out of total

voting of 7000.
Candidate Number of Votes received Invalid votes

A 26% 200
B 42% 100
C 18% 250
D 14% 120

Find the approximate percentage of valid votes received by candidate A out of the total votes.

Correct Option - 3

25%1.
29%2.
23%3.
32%4.
None of these5.

Que. 47 Valid votes received by A is how much percent more than the total votes received by C?
24.28%1.

28.57%2.
32.47%3.
26.12%4.
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Testbook Solution Correct Option - 2
None of these5.

Testbook Solution

Que. 48 Find the ratio of the valid votes received by B and D.

Correct Option - 3

143 ∶ 421.
42 ∶ 112.
142 ∶ 433.
153 ∶ 574.
None of these5.

Testbook Solution

Que. 49 How many valid votes did A, C and D together received more than valid votes received by B?

Correct Option - 4

7001.
8502.
7403.
6504.
None of these5.

Testbook Solution

Que. 50 Total number of invalid votes is what percent of the total voting?

Correct Option - 1

9.57%1.
8.23%2.
10.75%3.
13.12%4.
None of these5.

Que. 51 Directions: Study the following graph carefully and answer the given questions:
Line graph shows the percentage of 5 different subjects of books sold by two Stores A and B.

Total number of books sold by store A = 4,50,000
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Testbook Solution

Total number of books sold by store B = 5,20,000

If 15% of Computer books sold by A and B were returned by the customers due to some defects, then how many
Computer books were originally sold by both stores together?

Correct Option - 3

1,42,8001.
1,21,8252.
1,20,7003.
21,3004.
None of these5.

Testbook Solution

Que. 52 If the number of Mathematics Books sold by B was the same as that of A, what would have been its
approximate percentage share in the total books sold by B?

Correct Option - 2

11%1.
13%2.
15%3.
9%4.
21%5.

Testbook Solution

Que. 53 What was the difference between the total number of Physics books sold by A and B?

Correct Option - 1

5,0001.
7,5002.
10,0003.
2,5004.
None of these5.

Testbook Solution

Que. 54 For which of the following books, difference of books sold by store A and B is maximum?

Correct Option - 3

Mathematics1.
Computer2.
English3.
Chemistry4.
Physics5.

Que. 55 If the percentage of Chemistry books sold by B was the same as that of A, what would have been the
number of Chemistry books sold by B?

1,12,5001.
1,20,0002.
1,25,0003.
1,30,0004.
None of these5.
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Testbook Solution Correct Option - 4

Testbook Solution

Que. 56 The average salary of male employees in a company is Rs. 12000 and that of the female is Rs. 11200.
The Mean salary of all the employees is Rs. 11600. What is the % of female employees?

Correct Option - 2

55%1.
50%2.
60%3.
56%4.
40%5.

Testbook Solution

Que. 57 In a factory, there are a total of 6000 workers and 80% of the workers are male, 19% of the male
workers in the factory are at least 55 years old. Find the number of male workers below 55 years.

Correct Option - 1

38881.
28882.
48883.
68884.
88885.

Testbook Solution

Que. 58 When the sum of a certain amount was distributed among Radha, Sita and Ram in the ratio 2 : 3 : 4
respectively, but by mistake distributed in the ratio 7 : 2 : 5 respectively. As a result, Sita got Rs.60

Less. Find the amount?

Correct Option - 3

Rs. 2901.
Rs. 3002.
Rs. 3153.
Rs. 3204.
None of these 5.

Testbook Solution

Que. 59 The ratio of the ages of Tina and Jatin is 23 : p. Tina is 10 years younger to Rahul. After 16 years,
Rahul will be 72 years old. If the difference between the ages of Jatin and Tina is equal to the age of

Rahul 4 years ago, find the value of p. 

Correct Option - 4

451.
472.
423.
49 4.
525.

Que. 60 Prashant borrowed Rs. 60,000 at 6% p.a. compound interest for 2 years from Surya. He lent the
borrowed amount to Nikul at 15% p.a. simple interest for 2 years. Find the profit of Prashant in this

transaction.
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Testbook Solution Correct Option - 2

Rs. 11,8201.
Rs. 10,5842.
Rs. 12,2003.
Rs. 9,8484.
None of these5.

Testbook Solution

Que. 61 A daughter and a Son can complete 7/10 work in 14/3 days. With the help of the mother they can
complete half the work in 2 days. Find out the time taken by the mother to complete the full work if

she would have worked alone.

Correct Option - 3

12 days1.
8 days2.
10 days3.
13 days4.
None of the above5.

Testbook Solution

Que. 62 There are two types of pulses. Cost of pulses are Rs. 150 per kg and Rs. 100 per kg. In what ratio these
pulses are mixed so that the mixture sold at Rs. 121 kg to earn a profit of 10%.

Correct Option - 2

2 ∶ 31.
1 ∶ 42.
4 ∶ 73.
5 ∶ 74.
6 ∶ 75.

Testbook Solution

Que. 63 A train travelling at the speed of 100 km/h crossed another train half its length in 27 seconds travelling
in opposite directions at the speed of 60 km/h. The same train crosses a platform in 36 seconds. Find

the length of the platform.

Correct Option - 3

300 m1.
240 m2.
200 m3.
250 m4.
360 m5.

Que. 64 A invests Rs.400, B invests Rs.600 into a partnership. After 5 months, B adds Rs.100 and C joined
them with Rs.800. After 10 months, A adds Rs.300 to his investment. Their total profit is Rs. 2079

after 1 year. Find the difference between the profit shares of C and A.
Rs. 301.
Rs. 222.
Rs. 183.
Rs. 404.
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Testbook Solution Correct Option - 2
Rs. 365.

Testbook Solution

Que. 65 The Marked price of a dress is Rs. 2000. A shopkeeper offers 20% discount on price and again he
gives discount of 10% on new price. After two discounts, a new customer comes and ask for 10%

discount, then again he offers discount on new price. Find the amount customer will pay after all the discounts.

Correct Option - 3

Rs. 12001.
Rs. 13002.
Rs. 12963.
Rs. 12854.
Rs. 13485.

Testbook Solution

Que. 66 Directions: Study the following information and answer the given questions.
Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular table, but not necessarily in the same 

order. Some of them facing the centre while others are facing away from the centre. Q faces the centre and sits 
third to the right of P. Only one person sits between Q and S, and S is a neighbour of P. R is facing inside. V is 
sitting second right of W. Three people sit between V and S and V is facing the opposite direction of P. S, W and 
V are facing the same direction. Only one person sits between U and T. Both U and T facing the same direction. 
T is facing away from the centre. Only one person sits between T and P, P is facing the opposite direction of T. R 
is a neighbour of V and W.

Who is sitting third to the right of T?

Correct Option - 3

U1.
V2.
W3.
P4.
Q5.

Testbook Solution

Que. 67 Who is sitting immediately right of the U?

Correct Option - 1

Q1.
P2.
R3.
S4.
T5.

Que. 68 What is the position of Q with respective T?
Second to the left1.

Second to the right2.
Third to the left3.
Third to the right4.
immediately left5.
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Testbook Solution Correct Option - 5

Testbook Solution

Que. 69 How many people facing outside?

Correct Option - 4

11.
22.
43.
54.
65.

Testbook Solution

Que. 70 Who is sitting second to the right of P?

Correct Option - 5

U1.
V2.
W3.
S4.
T5.

Testbook Solution

Que. 71 In each question below are given some statements followed by some conclusions. You have to take the
given statements to be true even if they seem to be at variance with commonly known facts and then

decide which of the given conclusions logically follows from the given statements, disregarding commonly
known facts. Give answer
Statements:
Only a few Red are Blue.
Only a few Blue is Pink.
All Pink is Yellow.
Conclusions:
I. All Yellow being Blue is a possibility.
II. Some Pink is Red.

Correct Option - 1

If only conclusion I follows.1.
If only conclusion II follows.2.
 If either conclusion I or II follows.3.
If neither conclusion I nor II follows.4.
If both conclusions I and II follow.5.

Que. 72 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few Lakes are River.
Only a few River are Salty.
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Testbook Solution

Some Salty are Water.
Conclusions:
I. All Lakes can never be River.
II. Some River can never be Salty.

Correct Option - 5

Only conclusion I follows1.
Only conclusion II follows2.
Either conclusion I or II follows3.
Neither conclusion I nor II follows4.
Both conclusions I and II follow5.

Testbook Solution

Que. 73 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few Mobile are Belts.
All Belts are Masks.
Some Masks are Covers.
Conclusion:
I. Some Masks are Belt.
II. Some Mobile are Covers is a possibility.

Correct Option - 3

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusions I and II follow3.
Either conclusion I or II follows4.
Neither conclusion I nor II follows5.

Que. 74 Direction: Study the following information carefully and answer the given questions.

Six persons P, Q, R, A, B, and C are living in a three-storey building such that ground floor is numbered as 1, 
above it is floor 2 then top floor is numbered as 3. Each of the floor has 2 flats in it as flat-X and flat-Y. Flat-X of 

floor-2 is immediately above flat-X of floor-1 and immediately below flat-X of floor-3. In the same way flat-Y of 

floor-2 is immediately above flat-Y of floor-1 and immediately below flat-Y of floor-3. Flat-X is in west of flat-
Y. They all are from different countries.
P lives on an odd numbered floor in flat X. The one who is from Finland lives immediately above C. A lives to
the west of C. P and the one who is from Finland do not live on the same floor. Neither A nor Q is from Brazil. C
is either from Mexico or from Nepal. There is one floor between Q and the one who is from Serbia who lives
above Q. B does not live in flat Y. The one who is from Canada lives on the same floor on which the one who is
from Nepal lives.

Who among the following lives in Flat Y?
B1.
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Testbook Solution Correct Option - 2

R2.
A3.
P4.
None5.

Testbook Solution

Que. 75 Which of the following combination is not correct?

Correct Option - 5

C - Nepal1.
P - Flat X2.
Q - Mexico3.
B - Serbia4.
R - Flat X5.

Testbook Solution

Que. 76 Who lives on the bottom most floor?

Correct Option - 5

B1.
Th one who is from Brazil2.
The one who is from Nepal 3.
The one who is from Mexico4.
Both (b) and (d) 5.

Testbook Solution

Que. 77 Who among the following lives to the east of B?

Correct Option - 3

C1.
The one who is from Nepal2.
The one who is from Finland3.
P4.
Both (a) and (c)5.

Testbook Solution

Que. 78 Which of the following does not belong to the group?

Correct Option - 5

B1.
R2.
P3.
Q4.
A5.

Que. 79 Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: 
P ≤ Q = R; P ≥ S < U ≤ W
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Testbook Solution

Conclusions:
I. R = S
II. S > R

Correct Option - 4

Only I is True1.
Only II is True2.
Both I and II are True ≤3.
None is True4.
Either I or II is True5.

Testbook Solution

Que. 80 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/ are definitely true and then give your answers accordingly

Statements: B > C ≥ A ≤ U ≤ D; F ≤ G = L; D ≤ F ≤ L
Conclusions:
I. A < G
II. G ≤ A

Correct Option - 5

Only I is true1.
Only II is true2.
Either I or II is true3.
Both I and II is true4.
Neither I nor II is true5.

Testbook Solution

Que. 81 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/are definitely true and then give your answers accordingly.

Statements: U ≤ F ≤ G ≤ Y; Y ≤ R > I < O
Conclusions:
I. R > U
II. U = R

Correct Option - 4

Only I follow1.
Only II follow2.
Both I and II follow3.
Either I or II follow4.
Neither I nor II follow5.

Que. 82 Direction: In the following questions assuming the given statements to be true, find which of the
conclusion(s) among the given conclusions is/ are definitely true and then give your answers

accordingly.
Statements: P > Q ≤ S ≥ T; V = W ≤T 
Conclusions:
I. P > T
II. S ≥ V 
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Testbook Solution Correct Option - 2

Only conclusion I is true1.
Only conclusion II is true2.
Both conclusion I and II are true3.
Either conclusion I or II is true4.
Neither conclusion I nor II are true5.

Testbook Solution

Que. 83 Direction: Study the following information carefully and answer the given questions.
Six people A, B, C, D, E, and F eat different chocolates on six days of week starting from Monday to

Saturday but not necessarily in the same order. On each day only one person eats the chocolate. Only
three people eat chocolate between E and the one who eat 5-star. E eats before A who eats Dairy Milk on
Thursday.  Three people eat chocolate between the one who eats Kitkat and the one who eats Snicker. B eats
chocolate immediately before the one who eats Amul. D eats Perk two days before the one who eats Kitkat. C
does not like 5-Star. 

Who eats Amul?

Correct Option - 5

A1.
B2.
C3.
D4.
E5.

Testbook Solution

Que. 84 On which day B eats the chocolate?

Correct Option - 1

Monday1.
Tuesday2.
Wednesday3.
Friday4.
Saturday5.

Testbook Solution

Que. 85 Which of the following combination is correct?

Correct Option - 2

A-Thursday-Perk1.
B-Monday-Snicker2.
C-Friday-5-Star3.
D-Tuesday-Perk4.
E-Tuesday-Kitkat5.

Que. 86 How many persons eats chocolate before C?
One1.

Two2.
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Testbook Solution Correct Option - 4

Three3.
Four4.
None5.

Testbook Solution

Que. 87 Which of the following statement is false?

Correct Option - 4

B eats chocolate on Monday1.
D eats Perk2.
A eats Dairy Milk on Thursday3.
F eats 5-star on Friday4.
All are false5.

Testbook Solution

Que. 88 In the given word ‘TELEVISION’ if the vowels are changed to the next letters and the consonants are
changed to the previous letters as per the alphabetical series, then which letter/letters are repeated more

than once?

Correct Option - 4

P, M1.
R, U2.
S, K3.
F, J4.
F, K5.

Testbook Solution

Que. 89 Directions: Study the information given below carefully and answer the questions that follow.
Prithvi starts walking from his home in the south direction and walks for 7 km to reach point A. Then

he takes a right turn and walks 5 km to reach point B. From point B he turns 90 degrees to his left and walks for
8 km to reach point C. From point C again he turns 90 degrees towards his left and walks for 10 km to reach
point D. Then he takes a left turn and walks 17 km in the north direction to reach point E. Finally, he makes a 90
degree left turn and walks for 5 km to reach point F.

Point D is in which direction with respect to the house?

Correct Option - 5

South1.
East2.
Northeast3.
Southwest 4.
Southeast5.

Que. 90 What is the distance between Prithvi’s house and the final point?
3 km1.

5 km2.
1 km3.
2 km4.
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Testbook Solution Correct Option - 4
4 km5.

Testbook Solution

Que. 91 What is the shortest distance between point B and point D?

Correct Option - 4

15 km1.
10√2 km2.
18.5 km3.
√164 km4.
17km5.

Testbook Solution

Que. 92 Point C is in which direction with respect to point E?

Correct Option - 4

Southeast1.
South2.
West3.
Southwest4.
Northwest5.

Testbook Solution

Que. 93 Directions: These questions are based on the following information.
There are 9 members in a three generation family i.e. Anjali, Ram, Shyam, Piyush, Ragini, Himanshu,

Neha, Shubham and Aditi. There are three married couples in the family. There are five male and four female in
the family. Shyam is the brother-in-law of Shubham, who is the daughter in law of Himanshu. Aditi and
Shyam are unmarried members. Ragini is the grandmother of Shyam. Ram is the paternal uncle of Neha.
Piyush is the maternal grandfather of Neha and father of Aditi. Himanshu is the brother in law of Aditi.

Who is Mother-in-law of Shubham ?

Correct Option - 2

Ragini1.
Anjali2.
Himanshu3.
Aditi4.
None of these5.

Testbook Solution

Que. 94 How Anjali is related to Shyam?

Correct Option - 3

Father1.
Sister2.
Mother3.
Grandmother4.
None of these5.

Que. 95 How Himanshu is related to Ragini?
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Testbook Solution Correct Option - 2

Daughter-in-law1.
Son-in-law2.
Son3.
Daughter4.
None of these5.

Testbook Solution

Que. 96 Directions: Study the following information carefully and answer the given questions.
Nine boxes namely A, B, C, D, E, F, G, H and I are placed one above the other but not necessarily in the same 

order. Only five boxes are placed between D and C. E is placed immediately above C. Only three boxes are placed between E 
and A. D is neither at the topmost nor at the bottommost position. As many boxes are placed between A and E as between C 
and F. More than five boxes are placed between E and B. One box is placed between F and G. I is placed above H but not 
immediately above G.

Number of boxes above H is equal to the number of boxes below _____.

Correct Option - 1

A1.
B2.
C3.
E4.
F5.

Testbook Solution

Que. 97 How many boxes are there between D and G?

Correct Option - 3

One1.
Two 2.
Three3.
Four4.
None5.

Testbook Solution

Que. 98 Which of the following statement is true?

Correct Option - 5

A is placed three places above G.1.
There are four boxes between I and G.2.
A is placed immediately below D.3.
Number of boxes above D is equal to the number of boxes below G.4.
All are true5.

Que. 99 How many boxes are below I?
One1.

Five2.
Six3.
Four4.
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Testbook Solution Correct Option - 5
Seven5.

Testbook Solution

Que. 100 Which box is placed at the sixth position from the top?

Correct Option - 4

G1.
E2.
A3.
H4.
F5.
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